F2F +4-decls!!40

F2F +-decls

=qef 1s-req:(E— P)

(is_ack:(E— P)

x awaiting:(Id—Id—Id)

x owes_ack:(Id—Id—Id)

x C_sub_Id:(ff.C Cr 1d)

x vbl_locs:(Vi, j:ff.C. Qi(awaiting(i,7):B) & Qi(owes_ack(i,j):B))
x R_locs:(Vi:ff .C, e:E. (ff.R(3,e)) = (loc(e) = 1))

x req_dcdr:(Ve:E. Dec(is_req(e)))
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ack_dedr:(Ve:E. Dec(is_ack(e)))
R_dcdr:(Vi:ff .C, e:E. Dec(ff .-R(i,e)))
S_dedr:(Vi, j:ff .C, e:E. Dec(ff.S(i,7,e)))
S_locs:(Vi, j:ff.C, e:E. (ff.S(i,4,e)) = (loc(e) = 1))
(disjoint_msgs:(Ve:E, sndr, rcor:ff.C.
=([e: sndr ——is_req— rcor] & [e: rcvr ——is_ack— sndr]))
x Top))

clarification:

F2F+-decls{i:1}
(es; ff)
=qget 15-req:(es-E(es)— P{i})
(is_ack:(es-E(es)— P{i})
awaiting:(Id—Id—Id)
owes_ack:(Id—Id—I1d)
C_sub_Id:(ff.C Cr 1d)
vbl_locs:(Vi:ff .C, j:ff.C.
es-dtype(es;i;awaiting(i,7);B) & es-dtype(es;i;owes_ack(i,j);B))

R_locs:(Vi:ff .C, e:es-E(es). (ff R(i,e)) = (es-loc(es; e) =i € 1d))
req_dedr:(Ve:es-E(es). Dec(is_req(e)))
ack_dcdr:(Ve:es-E(es). Dec(is_ack(e)))
R_dcdr:(Vi:ff .C, e:es-E(es). Dec(ff.R(i,e)))
S_dedr:(Vi:ff .C, j:ff .C, e:es-E(es). Dec(ff.S(i,7,¢)))
S_locs:(Vi:ff .C, j:ff .C, e:es-E(es). (ff.S(i,j,e)) = (es-loc(es; e) =i € 1d))
(disjoint_msgs:(Ve:es-E(es).

Vsndr:ff.C, rcor:ff.C.

—(snd-it(ff;is_reg;e;sndr;rcor) & snd-it(ff;is_ack;e;rcvr;sndr)))
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x Top))
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